20 pyls 1 gai,

() 2L 10wpd 2lad loial el sloia],

VAY /Y/VY: oylodal fu U dhausgio 90l pomw Jlw
0939329 9] i 35 yo AT Ul ( 0lo 318 3) ,9uisS puutpow 3131 (5lullogls g JUa 30 ¢ &}y, 90 03
http://aee.medu.ir
00 Zenas glenl 3,
s (+/v8) A=B seli jpula|
10 A@B (+/Y8) B-A sl joila
Y
Y o
' | P(B)=\=P(B)=\——=—= (-/¥8)
(~/ra) f f
JSibByA = P(AUB)=P(A)+ P(B)=~+-=Y  (/rp)
(+/7a) ¥ £ v
(-/ra) (+/ra) (-/ra) r
FYA) (FYA) (FYA
o Ll CLFCLE) o
P(A)= AT (v
) VY 10 ¢/ve)
f
(-/v8)
v v v (VY £
W) P(A) = —Xx—x—= #) (+/v0)
VYo AERASRLSEN
\Y \Y \Y  \FF
(-/8)
an) 2ov= oy, ¢lve) = 2T,
AL x x x 5
x —o0 o E +oo
Y
a=rx - + p -
x o b + + (.IQ)
’nuf = ole + p -
vl e
A=[._9.:I (.ffo)
Y
@) ANB=(-,¥) (-/v8)




P20 pale : g, (1) (2L 10953 a6 il g sloia,
WAY Y/IY: ool g, dhwgio (0 ;90] pgu JUuw
0979 UV 3901 i 3S 50 WA Ul ( ole 319 33) 58 pasl oo 3131 yLlbogls g JUuS' )35 ¢ 459, RUTH AN
http://aee.medu.ir

8 0 Teouai glonl, )
\+tan'a = ‘, = ‘, vt~ =22 o cosa =t (-/v8) s
\IYa /%) Cos a Cos a \F \F A
sina =+\-cos'a —1}\-——-- (+/xa)
sinYa = Ysinacosa = V(—I—] - (+/v0)
(/v8) oNo) Ya
y (+18) ooem s, (1| ¥
\ 1 (1v0)  had g,
\]
\ (/v8) D,=R-{} (&
> X
¥V ) Y v
A
\ ()= ==v¢b  (/v8) = b=\  (-/1a)
(b)) = -=rvka-v (/v0) = a=Y  (-/1a)
: ~ _ _rx %
s |9 Vo0 = fle@)= 1x)= 725 ¢rro)
@)D, =R-{} (/v8) , D, =[,+®) (/1)
DM={xeD"|g(x)eD,}={x2-l\G¢\}:[-,+oo)—{\} (-/va)
(-/7a) (-/v8)
(-/va) (-/va)
)(f g]ﬂ JO-g®_ t-¥ v
Yg vg(%) ¥(Y) Y
(-/ra)
\ lef(x) rLsz(x)+f(\)- Y =Y ("M + ¥ ==v (/v0)
x-nt xX=»0_ +/¥8) QALY (-/ve) L




T T R -

(F) 2L ) 10w)3 2l (ool el slaial,

WAY /Y/VY: oylosiel s,

dhawgie (590! g Jlw

0919729 09398] s 38 s IPAY Ul (ole 319 33) 98 pautyow 3131 5 Uogls g JUusS'y30 ¢ &l 5l900 5500
http:/aee.medu.ir
.)"i W‘-‘MIJ l-i.i'ﬁ)
(+/v8) (-{ra) 11
v |ang; x"—¥ 'y x"-¥ r+\/x+v -1 (x—YYx+T)(\'+Jx+Y)
,E.'rn Y=JX+Y Im\' \/x+v \'+Jx+v ,{.{n \(’m)
=Lim -(x+rX\'+Jx+v)= =Y¥  (-/v0)
xsinx xsinx x x \ \
3 - . = . = — _=-"x‘=- -f'Tb
<) I_fg.n\—cosrx L,{.m Ysin' x L,{.m Ysinx I;im sinx ¥ Y (/ve)
(«/va) {-/13)
. x+\ ¥
&) Lim _—==——=—® (/%)
= (+/7a)
) Lim 2 i Y Fim L= )
et x" 4\ 32’! Yx' H‘ﬂ’ x
(+/r8) (-/va)
\Y
. Lim/®™=Lim——— ( ) ==\ (-/v0)
L;mf(x)=\'—f=~\ (-r'\'o) > Lim/ )= Lim/f(x)=/(== (-/vs)
f)=-
J
(+178) ol diwgy x =Y »fab
(-/va) (m) (-/v0) )Y
! (xr) f(x\) _S(r/0)-f(v) _ s _
=Y (-/v0)
Xy = X, v/o-Y /0
(+/vs) . (-/v8) (-/va) ¥
o g YX+\ Yx —(Yx+)) -Y x]
Yo ..11])f(x)=f( ] ( ) w)g'(x =A(?——J—- Vo-Vx
x x" g'x) wWo-vx\ ¥ r( )
(-/va) (+/8) (+/v8)
) (x)= (\+ tan" x) +\YsinYxcos" (vx)
(+/va) (-/0)
o8 ¢IYd) m==-\ (o CIYe)  Dp=(,+o) (W] 10
Vool oy aen

.Qumﬁwwqi,fo,h)&_am,agh&nb Sy ity Py (pduan il dad g @Ml




